)

c

E

1/o0 do/d(B

Ratio to OPAL

10°

H
o
N

10

0.5

133 GeV ee y*/Z (Hadronic)
I L — 1T T T T T T LI L A B BN B o
= = OPAL E
= Pythia 6.428 359 -
| —A— Pythia 6.428 370 i

Pythia 6.428 a
=~ v~ Pythia 6.428 dw =
— —o— Pythia 6.428 p0 —
- ¥ Pythia 6.428 pro-q20 7
El | | | | | | | | | | | | | | | | IE
:l T T T T | T T T T | T T T T | T I:
| " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | " 1 1
0 0.05 0.1 0.15
B

Rivet 3.1.0, = 14M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


